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1. Convert ra to degrees. 2. Convert 65° to radians.
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Sketch the angle. Find one positive angle and one. negatzve angle that are coterminal wzth each angle.
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7. Find the values of the six trigonometric functions of an angle in standard position whose terminal side passes
through (3, -1).
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For each function, find the values of the remaining five trigonometric functions of @ with the given info.
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Find each exact value. Be sure to SHOW WORK!!

&\
b‘ly:
T c
@}fe-F = W/(’
2.
13. ¢sc240° =f "
V3
s A .
M éW) < “-J%
24s°
Qﬂ’p_ = b0

~Ia @ ¢

Ot - ‘r]

}1!,_
14. tan 3”] :’SM( /

2 tos (?ﬂ[z)
1 (o, )

17. cos[-—1-16—7r-—] = E
s @ ~NFfe

4

E(Du)

[
12. csc 180° = —— Ty
Sur )

. ‘e D
c%‘l’ sth 180

o Cse 180° ¢ oadefed

15. tan —-i{] :!ri
S 5}/_
r Oet - ?T/S

18. cos(-—zg’—) = @

AT} | @rc{: = Tr,(t

19. cot(-90°) = 2 ;@ 20. sec 135° =|-— or —J3. 21. sm 7” \‘—3”
—{ l.?§ @ ?—
i "“3
3
L ) gn ~%) _L Tic ws(!zs)——“: T <«
- X

o).
LDI') *['lm 'qo ngL 4'1‘0} (9&{._ 11‘5
o @mﬁ z
,_Z‘alculatorAllowed @@ [ﬁmqlﬂﬁ Le ©, 4 »oms
A , ‘ T %LP.%I [F]
22. Convert from DMS to decimal form: 38°23'36" 23. Covert from decimal form to degrees: 59.354°.
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24. The radius of a car wheel is 15 inches. How many[revolutlons per mmut‘e)ls the wheel making when the

care is traveling at 60 mph? ?
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25. A bicyclist’s wheel is travehng at 250 reévolutions per minute. If the bicycle tire has a diameter of 29
inches, what is the bicyclist’s speed in miles per howr?
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28. Given: §=-145°. Change to radian measuregn/@nns of =. er
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29. Given: ¢=-1radian. Change to degree measure,

B Y TN A
mnaarcleof

Given the measurement of a central angle, f nd the measure of its intercepted arc
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. The measure of an arc is 10 em. Find the degree measureﬁ;he nearest terEl?f of the central angle it
btends in a circle of radius 16 cm. : - ..
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33. A plane is 8000 feet above the ground when it begins its final approach to a runway. If the ground distance

1o the end of the runway is 158400 feet, what is the angle of descent to the end of the runway?
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34. A cable from the top of a 100 ft cell phone tower makes a 50° angle with the ground. How long is the
able ,
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35. To measure the width of a river, a surveyor starts at point A on
one bank and walks 75 feet down the river to point B. She then
measures the angle ABC to be 21°37'15". Find the width of the river "
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